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DATA STRUCTURE & ALGORITHM

frufia o . fA R 1 (iR 3% : 70
Time allowed : Three Hours] [Maximum Marks : 70

Pe: () ¥eE v IAErE 8, 99 4 @ fg 9 F I G |
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i) ¥ T & G YT B} FHAR TF G § Hord |
Solve all parts of a question consecutively together.
(iii) % Y97 1 79 78 8 JRE Fford |
Start each question on fresh page.
(iv) @) qTaTaT 7 3= g7 #) [RfA 7 38 SR S A 8 |
Only English version is valid in case of difference in both the languages.

1. () W et § 3w fafan |
Write difference between program and algorithm.
(i) eeh fofe foree =t faa gro wmesy |
Explain doubly link-list with diagram.
(iii) T e & o Tenien % A feafay |
Write names of two algorithms for graph traversal.
(iv) & fois foree wreeiehtor 1 §93Tsy |
Explain linked-list representation of tree.
(v) SRIEFR F I fafay |

Write applications of data structure. (2x5)

2. (i) o fore 3 o § & el 3 ) gem & forg weriieen forfan |
Write an algorithm to delete an element in between from link list.
(i) T 1 TN B 7 @ TS e sihan srfireafe w Trefha sifeafe |
e g Faftrs = e |
Z+(y*x—(wWivau)*t)*S

Convert following algebraic infix expression into postfix expression by
explaining different steps using stack.

Z+(y*x—(wW/ivau)*t)*S (6x2)
(10f2) P.T.O.
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@ of2) 1110
e A g o U9 wiEaaT ¥g wemnten fafew | '
Write algorithms for push and pop operations in stack. 6)

frafafea sftreafedl = ifvea srfrefeal § sefe

Convert following into prefix expressions :

(@ ABC-D

(b) (A-B/C)*(D*E-F) (3x2)

afg e agal-f =1 #- awritéaﬁasln A, C, G, E, H, F qu1 fi-3f&

399 1, D, B, G, C, H, F, E, A &1, & 38 415t &1 i 91 i |
If the inorder traversal of a binary tree is B, I, D, A, C, G, E, H, F and its

preorder traversal is I, D, B, G, C, H, F, E, A, then determine the binary tree. 6)
frrferfaa 1 afer S SR :

Explain following with diagrams :
() Rwesmd
Strict binary tree
(b) hwelie aTER &
Complete binary tree (3x2)
foreht T A1 o T-a1TeR, -1 T - T doie 3q fnftia weiien fefae |

Write recursive algorithms for in-order, pre-order and post-orders traversal of

binary tree. (2x3)
BST &1 811 8 ? 35 Tuied 9 S ferfa |
What is BST ? Explain its properties and applications. (2+4)

2R % Frrta HichoH fewm aq fftm ae-et 6 smemn Hif |
Explain different techniques for collision reduction in Hashing.

TSI T TS i F9EsY |
Explain binary search algorithm. (6x2)

ﬁqmmﬁm@%wmwmﬁ%@mmaﬁm 1
Write Dijkstra’s algorithm for finding shortest path in a given graph.

Teaa e @ weaa= gt # s fofen |

Differentiate between Adjacency Matrix and Adjacency List. (6x2)

g, frefofia w aftm fewftri fafee : (FE Q)
Write short notes on following : (Any two)

@)
(ii)

AT
Selection sort
TR

Priority Queue

(iii) W% < SIET

Applications of graph (6x2)



